Final Question 2 Flow Chart






Calculations:







To generate 1 per second interrupt:







Clock Period = (1/8mhz)*4 = .0000005

 





Instruction cycles = 1/.0000005 = 2mhz





             1 : 256 prescaler
2mhz/256 =7812 
           yes



65535 – 7812 =    57723





Count = E17B


 

       





yes







           no








         yes



Program Explanation:

This program generates a once-per-second interrupt using TIMER0. When the count overflows from FFFF to 0000 an interrupt flag is thrown which triggers an analog to digital conversion of the analog signal coming into pin RA0 on PortA. A check temperature subroutine than checks to see if the digital output is less than 255H and if true, proceeds to call a fan-on subroutine which turns on LED RA1 of portA. It then checks to see if the digital output is less than 64H and if true, calls a heat-on subroutine which turns on LED RA2 of PortA. The program then redirects to receive another analog input to be digitized.
Note: screen shots unavailable due to mplab sim lacking some A/D capabilities.
Documentation:

All jumpers connected except for J8 and J10.   
Sample analog input through analog to digital conversion





Is TIMER0  overflow flag set?





Turn on heat





Is reading less than 64(H)?





Is reading greater than 64(H)?





Turn on fan








